a(6 @) (rad)

=
2
N

Ratio

0.95

aloa, ) (cm)

Ratio

0.95

a0 p,/p,)

Ratio

0.95

(RN
<

1.UD

1Qu.,

i l W#M WWH'

=3 3
TP n (PCA to beamllne)

a(d cot(B))

1072

.................................................

s, : -

Wb

-1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew6_step?2_tthar-phasel-newgeom

© by

iy

3 2 -1 0 1 2 3
TP n (PCA to beamline)

Ul

3 -2

TP n (PCA to beamline)

T 0 12 3

z

o(d d.) (cm)

1

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


